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NUSTEP Stats Boxplot Review

For each of the following problems:

a) Find the sample mean, median, mode, range, interquartile range, and standard deviation
b) Calculate the fences for possible outliers and list any outliers

c) Sketch a boxplot for the data

d) Give a 95% confidence interval for the population mean

1. The lengths, in inches, of 8 bones in the human body are 50.5, 27.5, 36.5, 23, 26, 49, 24, and 40

2. The data shows the population (in millions) of 12 randomly selected US states.

.621 .830 1.262 1.315 2421 2901 3.591 4.507 4.602 5.740 8.540 19.281
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Two studies are doscribed below. Use the descriptions to answer the questions that follow.

Study 1: Currently, the NFL will not televise home games in the local market if the game does
not sell out 72 hours before kick-off. This Is known as the Blackout Rule. However, there is talk

of changing this rule. As part of the evidence, the league will find the average scating capacity
of all 32 of their stadiums.

Study 2: Itis said that the color of a room can increase your appetite, specifically that red
rooms cause an increase in eating habits. To test this, 120 high school students are randomly
assigned to one of two groups. The first group is placed in a red room and the second group is
placed in a white room. They are kept there for a period of 3 hours without food. After3
hours, a buffet is brought into each room and the amount of food consumed by each person is
recorded.

(3) Which study is an experiment?

(b) tdentify the explanatery and response variables in this experiment.

(c) 1dentify your variables from part {b) abiose a% cither quantitative or categorical.

(d) What type of study is the one thatis notan experiment?
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